Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 his. Max. Marks:100
1 a. Define the following with an e

Languages  (iv)

(i) Alphabet (i) Stringg=, (06 Marks)
b. Define DFA. Construct the DEA for the following lapngua
(i) L={w/|w| mods«“ (06 Marks)
¢. Convert the follo&g&ng (08 Marks)
a. ertme%egular expressmns fo
B LR ={w|we {0, 1}" with-
(i) L={a"b" | m+nis eveny { Al (06 Marks)
b. Prove that every languagédefined by regular eﬁ%&t%ssﬁion is also defined by finite automata.
~ (08 Marks)
¢. Convert the followmg&re lar expressm §
(i) ab(a+t+b) ¢ (i) aa(b+a)’ (06 Marks)
a. (08 Marks)
b.
(08 Marks)
c. (04 Marks)
J nar. { for following languages:
(1) L={a bmck n“%&m k for n>0,m >0}
(i) L={ ww® A {a, b}" } P ¢ (08 Marks)
b. Construct the’ 1c@ most derlvatl%n ‘tight most derivation and parse trees for the grammar.
E— @gﬁ EVE—E |E*E l”?ﬁ%for input string “id + id * id”. (06 Marks)
c. Isthe followiﬁg grammar ambiguous?
S—>aS|X
X—>aX]|a (06 Marks)
m PART - B

a. Define PDA. Whai?%are languages of PDA? Construct the PDA to accept language L.

L={wcw'/we (a+b)” } where w® is reverse of w. Show the moves made by PDA
for string “aabcbaa”. (10 Marks
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Define DPDA. Construct DPDA for language
L={a"b"|n2>1}

Obtain the PDA for the grammar
S —» aABC
A — aBla / _
B — bA|b
Coa %W (05 Marks)

(05 Marks)

Define useless symbols, e-prod n and unit productionse S"implify the following

grammar: ' (]
S—>aAla|Bb|cC
A —aB
B—>al|Aa
C—>cCD
D — ddd

Define CNF.

(08 Marks)

(06 Marks)
(06 Marks)

language
L={0"1"n21

Explain the following ¢,

(i) Multi-tape turing machines

(i) Non-determin stl@’ Turing machine

(10 Marks)

(10 Marks)

Write short noté‘?on :
Halting &gob%m
Post’s spondence prob
Un- e@%able problem ¢

Decgdablhty (20 Marks)




